
SAP ABAP table RM03O {I/O fields}

RM03O

STATM [CHAR (1)]

WERKS [CHAR (4)]

VKORG [CHAR (4)]

EKORG [CHAR (4)]

BWKEY [CHAR (4)]

MATNR [CHAR (18)]

MTART [CHAR (4)]

MBRSH [CHAR (1)]

LGORT [CHAR (4)]

HBUKR [CHAR (4)]

BUKRS [CHAR (4)]

LGNUM [CHAR (3)]

VTWEG [CHAR (2)]

REF_MATNR [CHAR (18)]

REF_WERKS [CHAR (4)]

REF_LGORT [CHAR (4)]

REF_BWKEY [CHAR (4)]

REF_BUKRS [CHAR (4)]

REF_VKORG [CHAR (4)]

REF_VTWEG [CHAR (2)]

REF_LGNUM [CHAR (3)]

REF_LGTYP [CHAR (3)]

MARA

MANDT [CLNT (3)]

MATNR [CHAR (18)]

 RM03O-MATNR = MARA-MATNR 

0..N

0..N

 RM03O-REF_MATNR = MARA-MATNR 0..N

0..N

MARD

MANDT [CLNT (3)]

MATNR [CHAR (18)]

WERKS [CHAR (4)]

LGORT [CHAR (4)]

 RM03O-REF_LGORT = MARD-LGORT 
0..N

0..N

MLGN

MANDT [CLNT (3)]

MATNR [CHAR (18)]

LGNUM [CHAR (3)]

 RM03O-REF_LGNUM = MLGN-LGNUM 
0..N

0..N

MLGT

MANDT [CLNT (3)]

MATNR [CHAR (18)]

LGNUM [CHAR (3)]

LGTYP [CHAR (3)]

 RM03O-REF_LGTYP = MLGT-LGTYP 
0..N

0..N

MVKE

MANDT [CLNT (3)]

MATNR [CHAR (18)]

VKORG [CHAR (4)]

VTWEG [CHAR (2)]

 RM03O-REF_VTWEG = MVKE-VTWEG 
0..N

0..N T001

MANDT [CLNT (3)]

BUKRS [CHAR (4)]

 RM03O-BUKRS = T001-BUKRS 

0..N

0..N

 RM03O-HBUKR = T001-BUKRS 
0..N

0..N
 RM03O-REF_BUKRS = T001-BUKRS 0..N

0..N

T001K

MANDT [CLNT (3)]

BWKEY [CHAR (4)]

 RM03O-BWKEY = T001K-BWKEY 
0..N

0..N
 RM03O-REF_BWKEY = T001K-BWKEY 0..N

0..N T001L

MANDT [CLNT (3)]

WERKS [CHAR (4)]

LGORT [CHAR (4)]

 RM03O-LGORT = T001L-LGORT 

0..N
0..N

T001W

MANDT [CLNT (3)]

WERKS [CHAR (4)]

 RM03O-REF_WERKS = T001W-WERKS 

0..N

0..N

 RM03O-WERKS = T001W-WERKS 

0..N

0..N

T024E

MANDT [CLNT (3)]

EKORG [CHAR (4)]

 RM03O-EKORG = T024E-EKORG 

0..N

0..N

T132

MANDT [CLNT (3)]

STATM [CHAR (1)]

 RM03O-STATM = T132-STATM 

0..N

0..N

T134

MANDT [CLNT (3)]

MTART [CHAR (4)]

 RM03O-MTART = T134-MTART 

0..N

0..N

T137

MANDT [CLNT (3)]

MBRSH [CHAR (1)]

 RM03O-MBRSH = T137-MBRSH 

0..N

0..N

T300

MANDT [CLNT (3)]

LGNUM [CHAR (3)]

 RM03O-LGNUM = T300-LGNUM 

0..N

0..N

TVKO

MANDT [CLNT (3)]

VKORG [CHAR (4)]

 RM03O-REF_VKORG = TVKO-VKORG 

0..N

0..N

 RM03O-VKORG = TVKO-VKORG 

0..N

0..N

TVTW

MANDT [CLNT (3)]

VTWEG [CHAR (2)]

 RM03O-VTWEG = TVTW-VTWEG 

0..N

0..N


